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G80-01 32 1Y% 36 45 53 66| 18 4.5
G80-02 40 1% 42 51 59 73] 19 |22 4.5
G80-03 50 2 531, 63 72 90| 22 5.0
G80-04 65 27, 68 ' 79 89 107 ] 25 5.0
G80-05|BF65 BF2Y, 68 79 89 [107 ] 25 5. 0] mrey
G80-06 80 3 8 1 92104 ][124] 28 |,5 5[ 5.5/7%°
G80-07 100 4 105 117131 ]151] 33 | %3] 5. 5
G80-08 125 5 131}, ,[143[157[180] 36 6.0
G80-09 150 6 155 ' 169]185[209] 39 6.0
G80-10 200 8 205 2211240264 48 [ ,, 5[ 8.0
FX | G8O-11 250 10 255 |x2.0| 272 | 295|327 | 70 | 2 °[10. o] %%e?
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A(mm) | B(in ek
G80-01 32 1Y% 10 2 45 10 2 7 10 70
G80-02 40 1Y% 10 2 45 10 2 7 10 76
G80-03 50 2 10 2 40 10 3 8 12 90
G80-04 65 27, 10 3 40 10 3 8 13 [107
G80-05|BF65 BF2Y, 12 2 40 12 3 10 14 [112
G80-06 80 3 12 3 40 12 3 10 14 [126
G80-07 100 4 12 3 35 12 3 10 15 [ 152
G80-08 125 5 15 3 35 14 3 12 18 [ 181
G80-09 150 6 15 3 35 14 3 12 18 [210
G80-10 200 8 17 4 35 16 3 14 20 [ 266
*X| G80-11 250 10 19 6 35 18 5 16 23 [327
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